Quiz 1 MQ@

Show all your work. No credit is given without reasonable supporting work. There are two
sides to this quiz.

1. [2] Define a function as you would to a 12 year old. Consider using examples to help
clarify ideas.

@? /\ g)(\r)mm s oo O Thod ssSicns éOSQd(%k Q?
S Th nes \o\ceow@.\c\%\sdr\o\ikaa
&éi oOQ eASLRC b Lo Q.‘?Q}QQ){ ga.(@jo

XN)W\ CodO o en apPeL @i q°‘¢

o ¢ AOX
2\%§f(3—x QC)‘\AL::\ ceny elNa en a,@\')‘w; & bony A9

(a) [1] (WebHW1 #5) Find f(3 + k). |

S = B q-akm] o Qe N3
L%m\ 19 - 4(%}

(b) [1] (81.1 #30) Is the pomt (=1, —+/13) orthe graph of f? Why or why not?
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(c) [2] (WebHW1 #9) (Use the domain convention to) Find the domain of f.
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3. Let g be the piecewise defined graph shown below.
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() [1] (§1.3 #14) Find g(4)
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(b) [1] Estimate = such that g(z) = 2
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c) [1] (§1.1 \7{ 8) Identify the z intercept(s).
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(d) [1] What is the range of g7
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